
The simple present passive

' Complete the conversations. Use the sim�le present active or passive form of tme verbs given. 

1. 

2. 

3. 

4� 

5. 

6. 

A Wn[� �c��wc (wc[�) du�q~k +[�~q�[w q~ L[�q~ A|c�q_[? 

B L��� �e �c��wc _���u|c�� 

A Wn[� +nq~c�c _nqwd�c~ (kq�e) ]y �neq� �[�c~�� �~ Ncw Yc[�'�? 

B Tncy �cd c~�cw��c� hwwcd wq�n |�~cy� 

A Wn[��� �nc |��� ���uw[� ����� �n[� (�w[y) ]y |c~ [~d w�|c~? 

B Wcww, ��__c� ]y ]��n |c~ [~d w�|c~� S� I kuc�� q�'� ��__c�� 

A Wn[� �c��wc (c[�) �~ Tn[~k�kq�q~k q~ �nc >~q�cd 9�[�c�? 

B M��� �c��wc �u�kcy
 

A I~ K��c[	 +nqwd�c~'� D[� (_cwc]�[�c) q~ M[y �� q~ J�~c? 

B I� q~ M[y� 

� Wn[� kq~d� �e �nq~k� (]uy) du�q~k �nc n�wqd[y� q~ �nc >
S�? 

B I� dc�c~d� �~ �nc n�xqd[y� Lqsc �~ �nc F�u��n �e Juwy, �c��wc _CDEHF h�cw��k� [~d ��uee� 

7� & Wn[� kq~d� �e c�c~�� GHDDDI (o�wd) du�q~k �nc ��[dq�q�~[w ec��q�[w� q~ J[�[~?

B Wcww, �c��wc (�w[y), [~d w[~�c�~� (�u�) q~ e��~� �e tnc n�u�c�� 
I�'� �c[wwy ��c��y� 

Ve�b + -ing and to � ve�b; po�ition of not

' @rite tme sentences abo�t texting etiq�ette another �a�. Use verb+ -�n� or to+ verb. 

1� <c��q~k du�q~k _w[�� q� ~�� [__c��[]zc� It' not acceptable to text �(#� � class.
2� I��� q|��wq�c �� �c�� e�qc~d� wnc~ y�u�rc n[�q~k dq~~c� wq�n ��|c�~c
 JDDHDGGHKD L

3� <c��q~k ��� |[~y �q|c� q~ [ d[y _[~ �gc~d �c��wc
 JEGMMHNGDDDDDDDH O

4� 5�� �c���~dq~k �� [ �c�� |c��[kc q||cdq[�cwy q� [__c��[]wc� JDDDDDDPDDDDD Q

5� I�'� [������q[�c �� �c[d �c�� |c��[kc� du�q~k [ ]u�q~c�� |cc�q~k
 JDDDD_RDDDE S

6� Lc��q~k y�u� �c�� |c��[kc� ]cc� du�q~k [ |cc�q~k q� ~�� [__c��[]wc� QDDDEHKDDD T

7� I�'� OK ~�� �� ��cwx w��d� �u� q~ euww q~ c|[qw�� GDDDDEGHMGHHUHVWDE X

8� Sc~dq~k [ w�� �e �c��� �� ��|c�~c q� ][d |[~~c��� QDDDGMGGHGGMGGHDD Y
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be supposed to; was/ were going to 

A RewrOte the sentences with the correct form of be supposed to or 
was I �ere going to. 

1. I CxpC>qCd Zy FrOC\d q̀  arrPvC aq 7:00 q̀ \OgLq,_buq LC dOd\'q mL`w
up u\qOl 9'00� 
My �iend was supposed to arrive at 7:00, but he d�dn't show u� unt�l 9�00. 

2� Y`u mLauld brP\g a mZall gPGq whC\ y`u gb q` a FrOC\d'm L`umC F`r dO\\Cr�

3� I LCard qLCrC'll bC a mq̀ rZ qLOm wCCkC\d�

4. I wa\qCd q̀  mC\d `uq O\vPqaqP`\m q̀  Zy bOrtLday parqy, buq I dPd\'q LavC qPZC�

5� My mPmqCr pla\\Cd q` LavC a pakqy qLOm wCCk~\d� buq qLC\ mLC dC>OdCd \`q qb�

6. I'Z pla\\P\g q  ̀g` q` a >`\>Ckq q`\PgLq� My FrPC\dm may Pq'm g`P\g q` bC Fu\�

Inseparable phrasal verbs

A Rewrite the sn@erUine@ g9rts of the sentences ssinJ 9n exgression in the <ox� 

gCq aW`\J wOqh 
JCq ar`u]d q̀  

geq away wOqh 
�gCq `uq `f

JCq ̀ vCr 
JCq qhr`ugh 

gCq qhr`ugL q` 
Ẁ `k F`kward qd 

1� 
2. 

3� 

4. 

5. 
6� 

7. 
8. 

get out of them 
. GO\d w`rk parqPCm b`rO\g� I� umually qky q̀  av`Od qLCZ� 
Iq qakCn ZC agCm q` Fi\d qOZC q` rCqur\ FrPC\dm' >aWlm� /'Z murprPmCd 
/ LavC a\y FrOC\dm� 
IF a FrPC\d qCllm ZC a XPC, I \CvCr mq`h bCO\J upmCq by Pq� / \CvCr qrumq qLa
pCrm`^ agaO\� 
I'Z \`t g``d aq buyP\g gPGqm F̀ r pC`plC� mb I umuaWWy qky q̀  av`Pd 
>rOqO>OmZ a\d buy gOGq >ardm� 
Iq a\\bym ZC whC\ FrOC\dm >a\'q ZakC Oq q` qLC C\d F̀ dO\\Cr wPqLbuq l``kP\J aq qLCPr pL`\Cm� 
My daA wa\qm a bOg pakqy F`r Zy qwC\qy
HOrmq bPrqLday� 0 LaqC pakqOCm, buq LC w`\'q lPmqC\� a\d I >a\'q 
ZakC MOZ u\dCrmqa\d� 
My FrOC\dm arC aWl prCqqy Camyg`P\J� I LavC a grCaq rClaqO`\mhOp wPqL qhCZ all� 
I lOkC qb mpC\d FrOday CvC\O\gm aWW by ZymClF� / >a\'q waPq F`r qLCZ� 
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